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PROBLEM STATEMENTS

1. Given sin(f) = —g and tan(f) > 0, find tan(f) and sec(f).
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2. Use the function value to find the indicated trigonometric value in the specified quadrant.
Function Value: sect = T Quadrant: III Trigonometric Function: cot 6
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3. Given sinf = - and 0 in Quadrant I, use the trigonometric identities to find the exact value of

each:
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4. Evaluate the following:
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5. Given y = 3sin(4x + 7), describe the period, amplitude, and phase shift of the graph. Then graph
the function.
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6. Given the graph, write the equation of the cosine function which matches the graph. §.
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7. Graph one cycle of the function y = 1 + sec (%) and state its period.
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8. Evaluate each:

a. arcsin £ = S a. arccos
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9. Evaluate each of the following

(a) arccos <sin <1177T)) = aces (L) = 4T
- ®
A X |

(b) arccos (sin (%)): rCLos (%) -

= =L
2
. =\ \
“tn/vxfa = S = ——E = ‘-\—— = = or 2
Cond 3 3 REY K
. 2 z
LE

R 7
R4 \\\ & _%
L, 2N
Swd. -3 . o '
x h
: 2 (A 7
K %« (-3) = (@)
(b = 289 ,
2 Coso=24 - 15
X= +\8
Copyright (©) 2024 TAMU Department of Mathematics

Math 150 WIR 10: Page 8 of



ATd TEXAS A&M UNIVERSITY . Math 150 - Sprlng 2024
_ Mathematics WEEK-IN-REVIEW 10

(e) cos (arccos (2))
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10. Write an algebraic expression that is equivalent to:
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11. Find all solutions to v/3csc(z) +3 =1
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12. Find all solutions to the equation 2sin?(3z) — 1 = 0.
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